i!l READTHEORY

» Analogies 1 tevei?

Directions: Choose the pair of words that
best express a relationship similar to that
of the original pair. Then write the bridge
sentence(s) to the right.

A finger is part of a hand. ;
A leaf is part of a tree. -'V/

Bridge Type: Characteristic

Name

Date

Lrampte.:

Bridge Type: Degree

#) FASCINATING : INTERESTING

A) amazing : incredible
B) serious : grave
crucial : important

D) strange : weird

1) SLAVE : SUBMISSIVE

A) murderer : violent
B) circus : laughable
C) professor : ignorant
D) professional : bossy

Bridge Type: Function

2) PIPE: WATER

A) bottle : wine
B) artery: paint
C) vein: blood

D) nozzle : hose

Bridge Type: Characteristic

3) DREAMER : IDEALISTIC

A) judge : legal

B) cynic: critical
C) parent: feminine
D) novice : skilled

Bridge Type: Definition

4) VERDICT : JUDGMENT

A) jet: helicopter

B) observation : science
C) principal : school

D) infant: baby

Bridge Sentence:
A characteristic of a slave is to be submissive.

A characteristic of a is to be

Bridge Sentence:
The function of a pipe is to conduct water.

The function of a is to conduct

Bridge Sentence:

A characteristic of a dreamer is to be
idealistic.

A characteristic of is to be

Bridge Sentence:
A verdict is, by definition, a judgment.

A/an is, by definition, a



Bridge Type: Degree

5)

CRUEL : UNKIND

A)
B)
C)
D)

graceful : flexible
vicious : aggressive
frightening : spooky

evil : insane

Bridge Type: Type/Kind

6)

SQUARE : QUADRILATERAL

A)
B)
C)
D)

rifle : weapon
instrument : violin
pattern : plaid
airplane : spacecraft

Bridge Type: Lack

7)

CLUMSY : GRACE

A)
B)
C)
D)

doubtful : faith
determined : work
rich : charity
beautiful : love

Bridge Type: Definition (Antonyms)

8)

PERMANENT : TEMPORARY

A)
B)
C)
D)

ordinary : plain
imaginary : fake
astonishing : surprising
skeptical : trusting

Bridge Type: Definition

9) ATTORNEY : LAWYER

)

A) worker : secretary
B) flower : daffodil

dog : canine

D) doctor : dentist

Bridge Type: Type/Kind

10) RAIN : PRECIPITATION

A) salmon : seafood
B) snow :tundra
C) jungle : desert
D) pet: hamster

Bridge Sentence:
Someone who is cruel is very unkind.

Someone who is is very

Bridge Sentence:

A square is a type of quadrilateral.

A is a type of

Bridge Sentence:

Someone who is clumsy lacks grace.

Bridge Sentence:

Permanent is the opposite of temporary.

Bridge Sentence:

By definition, an attorney is a lawyer.

Bridge Sentence:




Answers and Explanations

1) A

A slave is someone who is forced to do work. Submissive means following orders, or the opposite of dominant. Thus, a
characteristic of a slave is to be submissive. A murderer is someone who Kkills others. Thus, a characteristic of a murderer is to
be violent. Therefore (A) is correct.

2) C
The function of a pipe is to conduct water. The function of a vein is to conduct blood. Therefore (C) is correct.

3) B

Idealistic means believing strongly in one’s ideals regardless of how unrealistic they may be. Thus, a characteristic of a
dreamer is to be idealistic. A cynic is a skeptical or negative person. Critical means judgmental, or behaving like a critic. Thus,
a characteristic of a cynic is to be critical. Therefore (B) is correct.

4) D
A verdict is, by definition, a judgment. An infant is, by definition, a baby. Therefore (D) is correct.

5 B
Cruel means mercilessly evil or violent. Thus, someone who is cruel is very unkind. Vicious means ruthless and fierce. Thus,
someone who is vicious is very aggressive. Therefore (B) is correct.

6) A
A square is a type of quadrilateral, or 4-sided shape. A rifle is a type of weapon. Therefore (A) is correct.

7 A
Clumsy means awkward or klutzy. Grace is the quality of being effortlessly coordinated or skilled. Thus, someone who is
clumsy lacks grace. Someone who is doubtful lacks faith, or belief. Therefore (A) is correct.

8 D
Permanent is the opposite of temporary, or impermanent. Skeptical, or unbelieving, is the opposite of trusting. Therefore (D) is
correct.

9 C
By definition, an attorney is a lawyer. By definition, a dog is a canine. Therefore (C) is correct.

10) A
Precipitation is any water or ice that falls from the sky. Thus, rain is a type of precipitation. Salmon is a type of fish. Thus,
salmon is a type of seafood. Therefore (A) is correct.



